Handout 1 - The Old Switcheroo
and Who’s Who in the Matrix - Answers

. Express 3xr — 2y =5 and —x + 4y =1
using matrices.
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Express these as equations: ro—y
’ P 4 3T 4y

Ans: v —y = —6, 3 + 4y = 2.
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. In this matrix {_2 0 4] what is in
row one?
Ans: Row one: 3-51
-5
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. In this matrix {_2 0
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4] what is in

column two?

Ans: Column two: -5 0

. . 3 —5 1 .
. In this matrix —9 0 4] which en-
try is -57?
Ans: e
. . 3 -5 1 .
. In this matrix {_2 0 4], what is

10.

623?
Ans: 4
1 000
. : 0100 .
In this matrix 00 1 ol what is
0001
623?

Ans: Identity matrix

Express 20 —2y+3z = 5, 3x+4y+2 =8
and —4x — 2y — 2z = 8 using matrices.

20 -2y 3z )
Ans: | 3z 4y z | =18
—4dr -2y -2z 8
Express these matrices as equations:
x 2y 5z 6
—b5r -3y —z| =19
—4xr 4y -2z 8

Ans: x+2y+x =6, —=br—3y—2 =9,
—4x + 4y — 2z = 8.

What is the formula for location of en-
tries?

Ans: e,
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